Ch 6 Review #2 Name: M
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1. Create a table for f(x) = 3(2)**! — 4 and provide a COMPLETE graph, then provide answers for key
function attributes. (Remember this means label asymptotes, key points with coordinates, put arrows on
curves if domain continues in that direction! Lots of points are lost without these things!!!!)
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2. Consider the function f{x)=(2x —3)2 — 1. s
a. What are the domain and range of f(x)? b. Ifg(x) =x-1,whatis f{g(x))? 5
O W ?(30&} —;-(2(:-:'—1)-3) - |
Ry uz -\ =@x~2-3)% -
nE = (2x-5)% |
c¢. What are the domain and range of f{g(x))? d. Isflg(x)) =g(fix))? ]ustify wh;_/lor why not.
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. Explain why 10'°8% = 4. (Do not use the word CANCEL in your explanation!)
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Chapter 6 ¥

Calculator Portion Practice

1. Solve the following system of 3 variables (show algebraic work):

2x+y+z=3
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2. What is the equation of the parabola that passes

through (,ZE], ({)':[_), and (‘3\\_3 )? (Show
algebraic vJork.)
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4. Simplify the algebraic expressionand state any
limitations on x.
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6. Solve for x in the following equations:
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b. What is the domain and range of f~1(x)?
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c. Explain why the domain is not R.
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5. Given f(x) = (x+ 4)? —2and g(x) = Vx$2 -4

Decide if these functions are inverses. Defend your

conclusion. 2
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